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Is he liable for a Korbon — 297 "R _°pP

Overview

K7W (initially) said in the name of X759 92 that n"9 maintains that R AWw2a ") WP
S9nnn, and that which the 70 writes! that w7pn is aw2 H9nnn, that is only regarding
the obligation to bring a 72°¥1 127p, but the w7pi remains w7p. The X3 asked if the
WP is not 97nnn why is there a 329p 21°1. Our NdON qualifies the s'kM3 question.
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For he would not be obligated for a 79y 1297 by (merely) spending the wpn 175,
he would be 211 a 1277 only by eating w777 or by having a bodily (physical)
benefit from wps.

Summary
The 211 for a 72°yn 1277 is (perhaps) only if there was a physical change in the wTps.

Thinking it over
According to mo01n understanding at this point, is W2 %nnn WP in a case of

(72°2R or) M7 NRIT?

' The 7m0 writes (in 10,7 XP°1) that "3 MWR DR X232 7 OWTPR 23wa AR0M Hyn 1wnn o wol.

2 Mmoo may be puzzled by the s’k 3 question, ‘how can there be a 127p if the WP is not 9>nnn’. This is seemingly
no question at all, for the 7710 writes 73w3a nXwMY that there is a j27p 270 (regardless whether it is 97107 or not).

3 7w means spending the wTp; using it to purchase something, or to be w7pn a woman with it; where the wpn did
not undergo any physical change, it was only moved from one domain to another.

4 The s'®n3 question is that perhaps when the 70 wrote 73w2 XL (that there is a 772°vn 211 for amw) that is only if
there was either a physical change in the w7pn (it was eaten) or one derived bodily pleasure from the w7p: (as indeed
127 explained the view of n'"1); however if the w777 money was merely transferred (and we maintain that it is not
5%nnn), why should there be a 127p 21°1?! Nothing happened!

3 See X7 1"7 noOIN (on this TMY) who states that if one derived benefit WP A1an it is like 79°9K.
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